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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(ii) Section A contains question number 1 to 5, Very Short Answer type questions of
one mark each.

(iii)  Section B contains question number 6 to 10, Short Answer type I questions of two
marks each.

(iv)  Section C contains question number 11 to 22, Short Answer type II questions of
three marks each.

(v) Section D contains question number 23, Value Based Question of four marks.

(vi)  Section E contains question number 24 to 26, Long Answer type questions of five
marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any oneggf the questions out of
the two given in the question paper with the same questio
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SECTION - A \
1. SogiEr § ae S arelt fafauares i semid &, ﬁﬁﬂﬂ@ﬂt@ﬁ?ﬂww

Wﬁﬁmaﬁm%m@ﬁﬁwmﬁmwmwm

H IR &Y ST € | HROT Farey |

A geneticist interested in studying vg

prefers to choose organisms for fﬁ

u s and patterns of inheritance in living beings

2. HEH H U % IFoiET WG T HsHT & I AT TqRT | 1
Name the transcrip, io% " region of chromatin in a nucleus.

3. Teigd b S il % o O UTT ITgshAl ol ST B o Telered Y T
% ITeTHl Sl FAME § ghg &1 ST I HRUT AT | 1

State a reason for the increased population of dark coloured moths coinciding with the
loss of lichens (on tree barks) during industrialization period in England.

4. XX g BT AN B §U foHT Wio-faam s S aTelt S51e dgiaa ¥ ST 9 | B Uh
T AT | 1

Indiscrimate diagnostic practices using X-rays etc., should be avoided. Give one reason.
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el (HURT) =R (ST A € 2
What is Biopiracy ?
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SECTION - B
T W T 1 W S S i W 3¢ A gl o JH1 &l haTchesh e 3ca i
T TeTH & €, 3T 3% ‘ART’ (WeTdeh S deh-iieh) ol Tag ol aTeq | 39 SUfd bl o=l
T e § TEEH ART’ I A1 TS0 F21 390 e fofy 1 g i |

After a brief medical examination a healthy couple came to know that both of them are
unable to produce functional gametes and should look for an ‘ART’ (Assisted
Reproductive Technique). Name the ‘ART’ and the procedure involved that you can
suggest to them to help them bear a child.

T SR AET fasmgrwaT § 3icR Jdrsu | 0\

Differentiate between male and female heterogametyg

p
T ! HHA o IR hl Tec s § SeARAT- YHT THR Feraa et € 2

How has mutation breeding helped in impfg@ving the production of mung bean crop ?

frefefad gemsiitaal § ¥ aods THI-FHAT & T U Ueh-Ueh 3caTs bl =t
FHIT -

(a) LAB Q
(b) f
(d) UESEE TR

Mention a product of human welfare obtained with the help of each one of the

following microbes :
(a) LAB

(b) Saccharomyces cerevisiae

(c) Propionibacterium sharmanii

(d) Aspergillus niger
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11.

12.

13.

14.

3T 3TCTET STelig Siq AT STdTeR0T | Siifad el 3 U | ST iy |
~C)

ST, Fehel SeATRehal, I W ScehdT 31X TEeiiaeh Scargehal § ER T TaY ¢ 9
Many fresh water animals can not survive in marine environment. Explain.
OR

How are productivity, gross productivity, net primary productivity and secondary
productivity interrelated ?
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SECTION - C

ISl ST HheAl I % & Uit H Srer e g arEr T | e ot greeett & aRuee s
UG Bt & 31X 3RS & Vool eid & | U= o IeeTd & aeft 39 JeTsh i same
HITT ST 3HP I STREE B € |

Double fertilization is reported in plants of both, castor and g

nut. However, the
minous. Explain the

mature seeds of groundnut are non-albuminous and casto a
post fertilization events that are responsible for it. 6

THE | U9 ATHAT S 90 i | » C)
Describe the process of Parturition in hum%\, ¢
T STEAE T Tt @ S I ST ST T % GO ATt HeX o U T S

aﬁaﬂﬁﬁ%ﬁ%lww% TAT TP TS I BT [STqeh §RT TE Terel
ToRaT ST T |

A teacher wants his/ ’s
coloured flowers i i 00

possible.

s to find the genotype of pea plants bearing purple
garden. Name and explain the cross that will make it

(a) DNA % T&% G ffév?f 1000 =feAsiierse &, 8 & 240 =foisiere w8 € 1 W
TelH g & | 98T % 30 DNA T ¥ fohe faltfaei e (o) i |

(b) 3T IR B Y FH % el DNA TS & Tk 9T 6T ARG Fof TR0 |

(a) A DNA segment has a total of 1000 nucleotides, out of which 240 of them are

adenine containing nucleotides. How many pyrimidine bases this DNA segment
possesses ?

(b) Draw a diagrammatic sketch of a portion of DNA segment to support your
answer.
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16.

17.

18.

T UG ST St TETIaT ¥ STIHeA [afhuT sht ST HiT | 3

Explain adaptive radiation with the help of a suitable example.

Torenféml =t U 39 el WA-UITRTaT § 90 oiF &l dar 9 @l § | U Sag-8 &
IR 2T P THT I fHeredt € 59 I Feveh SifeTss TT o olaet ol § |

(a) T 37T T A B RIS AT & HET 2 T+ 2 1
(b) ST UIY I AT FAET Y 3T YR o T I {ohU ST & | 1
(c) TME YRR W T TG o U91E & aR § feif@w | 1

A team of students are preparing to participate in the interschool s

practice session you find some vials with labels of certain cannabi

(a)  Will you report to the authorities ? Why ? Q\ .

(b) Name a plant from which such chemicals are o@

(¢c)  Write the effect of these chemicals on human bo
@

RIS % SIS § Ffed fafi= @(aﬁﬁmwwﬁﬁaﬁlﬁwl 3

Enlist the steps involved in iv%g
practice.

fafi=t sRol S Wl 1 g WA ¢ | e # 4 i gensiie 6 sifed st
T UHR 3 Gl & FolT Suger & | T T Gewsiial H H Fesh ol Ush-Ueh ST off Jaew |
TS RIEST, HIHEehd, UATEHT, UgSiiiedd, HEAaaeiNad, ZEehieH | 3

> cattle. Suggest two disadvantages of this

Choose any three microbes, from the following which are suited for organic farming
which is in great demand these days for various reasons. Mention one application of

each one chosen.

Mycorrhiza; Monascus; Anabaena; Rhizobium; Methanobacterium; Trichoderma.
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20.

21.

22.

siiufafas o & § gaiTst DNA-UETR! 1 9gd 7ewd ¢ | U JaR 91 & g o
JATET T F WreifiTen! STafeTa: FiHa Arma $qfer o Fmior # {6 vehr wge i St € |

Recombinant DNA-technology is of great importance in the field of medicine. With the

help of a flow chart, show how this technology has been used in preparing genetically

engineered human insulins.

3T faciie® & TARuER (Tie-ee-d aEiNeey) & Uk AMmihd 3TNE I8T | THh
VAT Al T |

Draw a labelled sketch of sparged-stirred-tank bioreactor. Write its application.

31 Yermieat H fga € % PR St 9 § AR ®f geg & T | 3 @ stfussier At
TEd ot A9 el o | RRITOT g Al sl S TRt T 9l € | 38 forw
T 3Ty ARk oty o1 1 Jamey 3 39 fhanfary ot off [ ! T

H eI T w9 |
Following the collision of two trains a large number @ rs are killed. A majority

of them are beyond recognition. Authorities wan and over the dead to their

relatives. Name a modern scientific method writg the procedure that would help in

the identification of kinship. Q

% HROT 3T UIRY Td i Treiit fore]et g
T 39 fafa 1 gena ST S OE Seheued

Al

O ST o 2Afaaehl YET 9 oI &4
F TR W E | SHarewm= & :
% areraT

RIS N\%Z (B.0.D.) i HIYSH S-Sl T[urar & 3o § 5% Hel
] |

Hehell & 17 &

Many plant and animal species are on the verge of their extinction because of loss of
forest land by indiscriminate use by the humans. As a biology student what method
would you suggest along with its advantages that can protect such threatened species

from getting extinct ?
OR

“Determination of Biological Oxygen Demand (BOD) can help in suggesting the
quality of a water body.” Explain.



23.

24.

Tug -
SECTION -D

STRIEN 2, T 2014 T TAN AU H “TIe0 ¥R I 3R foran mm € |

(a) 9 AN FT e T U W W 0 [TaR W Hifsw |

(b) TS STEA-H &F P A 3 &l TSNS & AT JaTey ST 37T -1 HieAHT § 9
SHTIGHH T AT B | AT T Tl € |

(c) T qHENST W foeta U s o folu 31 UidqeeRt fafert 61 gema I |

Since October 02, 2014 “Swachh Bharat Abhiyan™ has been launched in our country.

(a) Write your views on this initiative giving justification.

(b) As a biologist name two problems that you may face while implementing the
programmed in your locality.

(c) Suggest two remedial methods to overcome these problems.

quUS -
SECTION -E

AT T B R 3 TR 2T % U U F 240 0T Son | SHROT AT Y

fferfiad weet o 3w fofan

(a) T ShaT (fufieet) & WEToT § ffed wmmehot 3 T Tt 8 9

(b) WW&?WW&%W@W@ ?

(c) 3T UhaT | feheit TBeIsTI] S hifeTehid ey oiaer of 2

(d) SR SITER0T H feheHT Gemsioy (HTZShIEAR e W) SiHet of 2

(e) 3T @I H foheH ] JHEH

Bl & S-T5h o SR, 3TN e,
forenTa o SR 3T9RT T T

A flower of tomato % ing the process of sexual reproduction produces 240
t

fF TR TIeRiaa BT & 2 T iR Ui

viable seeds.

Answer the followin ions giving reasons :

(a) What is the'mi ’ number of pollen grains that must have been involved in the
pollination of its pistil ?

(b) What would have been the minimum number of ovules present in the ovary ?

(c) How many megaspore mother cells were involved ?

(d) What is the minimum number of microspore mother cells involved in the above
case ?

(e) How many male gametes were involved in this case ?

OR
During the reproductive cycle of a human female, when, where and how does a placenta
develop ? What is the function of placenta during pregnancy and embryo development ?
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25.

26.

Ha AT § HUX o R & SE STER S AR Dty |
3Tt
291 3R 99 7 {50 vepr T e o DNA aeRd @ Sifean § vaer 2 ST & 2

Explain the genetic basis of blood grouping in human population.
OR
How did Hershey and Chase established that DNA is transferred from virus to bacteria ?

“HME I & 3Mg-TRmel & foveiyur § Seicrs A T-saHiaar Feia & & fau
Hewarqot o et S & 1 =amen Si |

reran
IR T T AT W& & U 8 aTed ATl 3T U iy |

“Analysis of age-pyramids for human population can provide i rtang inputs for long-
term planning strategies.” Explain.

OR
Describe the advantages for keeping th s healthy.
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